o

\.

C‘iv\l PO.‘\&‘i" a‘?
CONCovrena ‘(‘o
oee.x-cr MiAL, H,\z_

.{(‘cék‘l‘ov\ d‘c "
iy
T \

Use o veckor J&~

Ve @ o

o estimate Fhe



2.2

Y M, =1,

(L yyar )Hipa =Ty —dysrMyur 8

T, =y )pr a+dymy, 8

(Lyar )Hip = (Kyar )ilip Myar

(Kyar )y =-621X.52x1.8=0.581m, my,, =.678x70=47.46 kg
d,,r =.374x.52x1.8=.350 m

Lyypg )y =-581°x47.46 =16.02 kg -m’

T, =16.02x3+.350x47.46x9.81=48.1+162.9=211.0 N-m
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About the hip

dYM, =1«

T,-m.gd,—m, g(d, +,)=~U,+1,),«

)y =U )+ +dy ) my,

T, = (U + )+ +dy) my )+ mpgd, +my g(dy +1;)
T, = (4+.05+5(.40+.20)*)(2) + (8)(9.81)(.18) + (5)(9.81)(.20 +.40)
T,=48N-m

For the lower leg

ZFy B mLL(aLL)y

FKy -mya; =m,, (I, +d,, )

FKy =m, (I, +d, )oa+m,a,

Fy, =5(4+.2)(2) +5(9.81)

F,, =55N

About the mass center of the lower leg

My =lya=T—d, F,

Iy =l;a+d, F

T, =5(2)+.2(55)

T, =11N-m



